
 “It seems/appears that절”과 “** seems/appears to-부정사”
의 상호 전환 (주어가 ~인 것 같다, ~인 것 처럼 보인다.)

1. It ~ that 절을  ** seem to-부정사 구문으로 전환
수와 시제에 유의하여야 한다.
E.g.:
It seems that he is sick. 그는 현재 아파 보인다.
He seems to be sick. 
완료형 부정사( to have p.p ) : that절의 시제가 주절의 시제보다 과거일 때

It seems that he was sick. 그는 과거에 아팠던거 같다.
He seems to have been sick.

It seems that they enjoyed playing tennis.
They seem to have enjoyed playing tennis.

It seemed that she had broken the vase.
She seemed to have broken the vase.

2. ** seem to-부정사 구문 ☞ It seems that 절로 전환
단순부정사( to +R ) : 시제 일치
E.g.:
He seems (to be) kind.
It seems that he is kind.

He seems to love her.
It seems that he loves her.

He seems to succeed in everything that he tries.
It seems that he succeeds in everything that he tries.

Billy didn't seem to feel the same way
It didn't seem that Billy felt the same way.

They seem to be interested in korean culture.
It seems that they are interested in korean culture.

They seemed to have liked the movie.
It seemed that they had liked the movie. 


